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Write short notes on any fwo @ .
() Real GDP and Nominal GDP

(i)) - Consumption Function

¢
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(i) - Balance of Paymenis y ‘
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(v) Speculative Motive .for Money.
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What is Lhe‘meanmg of Fiscal Policy and Monetary Policy
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g plalﬂ the. income method of estlmatmg national income.
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what precautlons need to -be taken whlle using this
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@ 'With'the heip of a diagram derive the saving function

" fom the consumption function. -

o). Calculate marginal propensity to consume. and marginal -

'propensifY_to save from the following schedule : 10,5

Income (Y) ¥ Consumption (C) MPC MPS
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Explain the income determination in a two sector °°°"0my ]
model using aggregate expenditure approach and Saving. i

investment approach with the help of 5 diagram.

) The following information -about an economy is givy

as under :
C =100 + 0.6 Y, Yy=( -T)
I =3 100 Crores

G = % 150 Crores

T =% 100 Crores
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Deteﬂ“i“e the equilibrium level of income anq
a) .
¢ Onsumptlon.
C

what is the value of investment multiplier 9
Q)

if G increases to ¥~ 200 crores, what is the new
©

gilibrium level of output ?
equi™ .

f the investment multiplier varies directly with
" -Ze 0 s
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' ofihe n\\argin?-l\ propensity of consume (MPCQ).
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nal propensuy to 1mport reducesl
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" squilibrium income in an ope
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autonomous exports

with thé help of diagrams.
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